1. You conducted a survey of a sample of 25 non-managerial employees and determine that the average performance evaluation is 3.2 on a 1-4 scale, with a standard deviation of 0.4.  Over the last 10 years, the average has been 3.0.  Are this year’s evaluations significantly different than the long run average?  At what ( would it be significant?

2. A national study of employers’ health insurance costs finds that the average cost incurred by an employer who insures a worker is $9000.  For a sample of 100 Milwaukee employers, the costs were $9,900, with a standard error of $800.  Are Milwaukee’s costs higher than the national average?

3.  An HR department wishes to gauge the importance of retirement benefits to its workers across a number of dimensions, one of which is number of dependents.  It collects the following information on a sample of its workers.  The means are reported, with the standard deviations in parentheses below.  

	
	Values highly
	Does not value highly

	Number of dependents
	3.6

(1)
	2.1

(1.5)

	Sample size
	40
	25


Test whether mean number of dependents differs across groups.  Do the tests at the .05 level.

4.  You sample your employees and find that 40 out of 50 of them are familiar with the company’s new safety policies.  The goal was to have at least 75% familiar with the policies.  Is there sufficient evidence to conclude that you have met the goal?  Conduct a test at the .05 level.

5.
A consulting firm has sampled 200 of your employees about the health insurance plan offered by the company.  Half of those sampled chose family coverage and the rest chose individual coverage.  Seventy percent of those who chose family coverage report being satisfied with the company health plan, while ninety percent of those who chose individual coverage are satisfied.  Does satisfaction differ between those with family coverage and those with individual coverage?  Conduct a test at the .05 level.
6. A craft union would like to determine whether members at three major employers differ in their satisfaction with representation.  The following is a cross-tabulation of results of a survey:

	Employer
	Dissatisfied
	Somewhat satisfied
	Very satisfied

	1
	80
	60
	60

	2
	60
	40
	40

	3
	50
	30
	30



